North Battleford Dec.16, 2020

2020 Bulls

High selling pen was from Forjay Farms Ltd, Selling for \$2.20/lb with avg weight of 619lbs.

2019 Bulls

High seller was from Blair Welter selling for \$1.96/lb with a weight of 1058lbs.

2020 Heifers

High selling pen was from Forjay Farms Ltd, selling for \$2.00/lbs with average weight of 550/lbs.

2019 Heifers

High selling pen was from Blair Welter selling for \$2.37/lb with average weight of 880/lbs.

2018 Bred Heifers

Highest selling pen was Eastview Bison Ltd, selling for \$7800.00 (pen of 3) total weight 2645 lbs.

| CLASS | WEIGHT | PRICE | # HD | AVERAGE | AVERAGE/ PD |
|-----------------|--------|------------------|------|----------------|-------------|
| 2020 BULLS | | | | | |
| 600 + lbs | 6190 | \$ 13,301.70 | 11 | \$ 1,209.25 | \$ 2.15 |
| 550 - 599 lbs. | 43870 | \$ 101,082.05 | 81 | \$ 1,247.93 | \$ 2.30 |
| 400 - 499 lbs. | 14145 | \$ 30,384.70 | 30 | \$ 1,012.82 | \$ 2.15 |
| 300 - 399 lbs. | 2300 | \$ 4,192.75 | 6 | \$ 698.79 | \$ 1.82 |
| Under 300 lbs. | 595 | \$ 833.00 | 2 | \$ 416.50 | \$ 1.40 |
| 2019 BULLS | | | | | |
| 1000 + lbs | 26810 | \$ 51,557.80 | 25 | \$ 2,062.31 | \$ 1.92 |
| 900 - 999 lbs | 2895 | \$ 4,709.20 | 3 | \$ 1,569.73 | \$ 1.63 |
| 800 - 899 lbs | 5740 | | | \$ 1,947.87 | 2.38 |
| 600 - 799 lbs | 15420 | \$ | 21 | \$ 1,633.83 | 2.23 |
| 2018 BULLS | | | | | |
| Over 1000 lbs. | 9015 | \$13,636.25 | 7 | \$1,948.04 | \$1.51 |
| Under 1000 lbs. | 930 | \$4,737.60 | 1 | \$4,737.60 | \$5.09 |
| 2017 BULLS | | | | | |
| 1100 lbs + | 3470 | \$ 5,016.90 | 3 | \$ 1,672.30 | \$ 1.45 |
| 2016 BULL | | | | | |
| 1700 lbs + | 1780 | \$ 1,800.00 | 1 | \$ 1,800.00 | \$ 1.01 |
| 2020 HEIFERS | | | | | |
| 450 lbs + | 53000 | \$ 101,108.85 | 107 | \$ 944.94 | \$ 1.91 |
| 400-449 lbs | 14880 | \$ 28,603.35 | 34 | \$ 841.28 | \$ 1.92 |

| 300-399 lbs | 2865 \$ | 3,793.10 | 8 | \$ 474.14 | \$ 1.32 |
|---------------------|----------|-------------|-----|----------------|------------|
| 2019 HEIFERS | | | | | |
| 800 lbs + | 15675 | \$34,539.70 | 18 | \$1,918.87 | \$2.20 |
| 550-799 lbs | 5940 \$ | 9,211.00 | 9 | \$ 1,023.44 | \$ 1.55 |
| BRED HEIFERS | | | | | |
| 800 lbs + | 15130 \$ | 30,700.00 | 16 | \$ 1,918.75 | \$ 2.03 |
| MATURE COWS EXPOSED | | | | | |
| 900 + LBS | 68455 \$ | 82,950.00 | 66 | \$ 1,256.82 | \$ 1.21 |
| Total Head | | | 456 | | |

RITCHIE BROS. RON Auctioneers

NEW YEAR'S BISON AUCTION

North Battleford

27-Jan-21

2020 Bulls

High selling pen was from Trails End Bison, selling for \$2.29/lb with average weight of 519 lbs.

2019 Bulls

High seller was from Bi-Sands Ranch, selling for \$2.00/lb with average weight of 962 lbs.

2020 Heifers

High selling pen was from Neil MacNaughton, selling for \$2.20/lb with average weight of 545 lbs.

2019 Heifers

High selling pen was from Bi-Sands Ranch, selling for \$1.77/lb with average weight of 930 lbs.

2018 Heifers

Highest selling pen was from Mike Oestreicher selling for \$5400.00, pen of three, total weight of 3510 lbs.

Mature Cows

Highest selling pen was from Dream Catcher Bison, selling for \$3275.00, pen of 3, total weight of 3606 lbs.

| CLASS | WEIGHT | PRICE | # HD | AVERAGE | AVERAGE/ PD |
|----------------|--------|-----------------|------|----------------|-------------|
| 2020 BULLS | | | | | |
| 500 + lbs. | 2570 | \$ 5,885.30 | 5 | \$ 1,177.06 | \$ 2.29 |
| 400 - 499 lbs. | 15780 | \$ 36,464.45 | 35 | \$ 1,041.84 | \$ 2.31 |
| 300 - 399 lbs. | 3900 | \$ 7,401.15 | 10 | \$ 740.12 | \$ 1.90 |
| 2019 BULLS | | | | | |
| 1000 + lbs. | 8550 | \$ 17,100.00 | 8 | \$ 2,137.50 | \$ 2.00 |
| 900 - 999 lbs. | 12510 | \$ 26,040.60 | 13 | \$ 2,003.12 | \$ 2.08 |
| 800 - 900 lbs. | 1790 | \$ 3,224.00 | 2 | \$ 1,612.00 | \$ 1.80 |
| 700 - 799 lbs. | 1505 | \$ 2,519.25 | 2 | \$ 1,259.63 | \$ 1.67 |
| 600 - 699 lbs. | 1970 | \$ 3,053.50 | 3 | \$ 1,017.83 | \$ 1.55 |
| 2020 HEIFERS | | | | | |
| 500+ lbs. | 1635 | \$ 3,597.00 | 3 | \$ 1,199.00 | \$ 2.20 |
| 400-449 lbs | 12960 | \$ 28,759.65 | 29 | \$ 991.71 | \$ 2.22 |
| 300-399 lbs | 4085 | \$ 7,876.55 | 11 | \$ 716.05 | \$ 1.93 |
| 2019 HEIFERS | | | | | |
| 900 + lbs. | 2790 | \$4,938.30 | 3 | \$ 1,646.10 | \$ 1.77 |
| 800 - 899 lbs. | 4955 | \$ 7,837.60 | 6 | \$ 1,306.27 | \$ 1.58 |
| 700 - 799 lbs. | 3580 | \$ 5,367.40 | 5 | \$ 1,073.48 | \$ 1.50 |
| 600 - 699 lbs. | 3095 | \$ 4,568.85 | 5 | \$ 913.77 | \$ 1.48 |

| 500 - 599 lbs. | 2330 \$ | 3,262.00 | 4 | \$ 815.50 | \$ 1.40 |
|------------------|---------|----------|-----|----------------|------------|
| 400 - 499 lbs. | 2925 \$ | 4,357.55 | 6 | \$ 726.26 | \$ 1.49 |
| | | | | | |
| 2018 HEIFERS | | | | | |
| 1100 + lbs. | 3510 \$ | 5,400.00 | 3 | \$ 1,800.00 | \$ 1.54 |
| 1000 - 1099 lbs. | 5120 \$ | 8,300.00 | 5 | \$ 1,660.00 | \$ 1.62 |
| 900 - 999 lbs. | 2875 \$ | 4,100.00 | 3 | \$ 1,366.67 | \$ 1.43 |
| 800 - 899 lbs. | 2440 \$ | 3,300.00 | 3 | \$ 1,100.00 | \$ 1.35 |
| MATURE COWS | | | | | |
| 1200 + lbs. | 3606 \$ | 3,075.00 | 3 | \$ 1,025.00 | \$ 0.85 |
| 950 - 1099 lbs. | 4240 \$ | 3,750.00 | 4 | \$ 937.50 | \$ 0.88 |
| Total Head | | | 171 | | |





SPRING BREAK BISON AUCTION

North Battleford Feb.24, 2021

2020 Bulls

High selling pen was from Hanging Maple Ranch, Dave Belyk selling at \$2.70 per lb.

2019 Bulls

High seller was Rolling Hills, Max Bru, weight of 920 lbs, selling at \$2.18 per lb.

2020 Heifers

High selling pen was from Hanging Maple Ranch, Dave Belyk, weight of 546 lbs, selling at \$2.04 per lb.

2019 Heifers

High selling pen was from Sunset Bison Ranch Ltd., Avery Shepherd, weight of 838 lbs, selling at \$1.54 per lb.

2018 Heifers

High seller was Buye Bison, Daniel Buye selling at \$1100.00 per head.

MATURE COWS (PREG TESTED)

High seller was Trails End Bison, Kevin Wilkinson selling at \$1300.00 per head.

| CLASS | WEIGHT | PRICE | # HD | , | AVERAGE | A | VERAGE/ PD |
|----------------|----------|------------|------|----|----------|----|------------|
| 2020 BULLS | | | | | | | |
| 600 + lbs | 2445 \$ | 6,540.50 | 4 | \$ | 1,635.13 | \$ | 2.68 |
| 500 - 599 lbs. | 44311 \$ | 110,885.05 | 91 | \$ | 1,218.52 | \$ | 2.50 |
| 450 - 499 lbs. | 41128 \$ | 98,947.60 | 87 | \$ | 1,137.33 | \$ | 2.41 |
| 400 - 449 lbs | 40070 \$ | 74,400.35 | 90 | \$ | 826.67 | \$ | 2.08 |
| 300 - 399 lbs. | 20620 \$ | 41,768.30 | 54 | \$ | 773.49 | \$ | 2.03 |
| Under 300 lbs. | 250 \$ | 475.00 | 1 | \$ | 475.00 | \$ | 1.90 |
| 2019 BULLS | | | | | | | |
| | | | | | | | |
| 900 + lbs | 6410 \$ | 13,809.10 | 7 | \$ | 1,972.73 | \$ | 2.15 |
| 750 - 899 lbs | 3985 \$ | 7,306.00 | 5 | \$ | 1,461.20 | \$ | 1.83 |
| 650 - 749 | 5410 \$ | 9,030.00 | 8 | \$ | 1,128.75 | \$ | 1.67 |
| 2020 HEIFERS | | | | | | | |
| | | | | | | | |
| 500 + lbs | 24210 \$ | 51,536.35 | 46 | \$ | 1,120.36 | \$ | 2.13 |
| 450 - 499 lbs | 19985 \$ | 32,564.85 | 42 | \$ | 775.35 | \$ | 1.63 |
| 400-449 lbs | 12045 \$ | 17,337.85 | 29 | \$ | 597.86 | \$ | 1.44 |
| 250-399 lbs | 19462 \$ | 26,566.20 | 55 | \$ | 483.02 | \$ | 1.37 |
| 2019 HEIFERS | | | | | | | |
| 800 + lbs | 5030 \$ | 7,746.20 | 6 | \$ | 1,291.03 | \$ | 1.54 |
| 700-799 lbs | 3090 \$ | 4,481.30 | 4 | \$ | 1,120.33 | \$ | 1.45 |

2018 HEIFERS

| 700 + lbs | 1460 \$ | 2,200.00 | 2 | \$ 1,100.00 | \$ 1.51 |
|---------------------------|---------|----------|-----|----------------|------------|
| WATURE COWS (PREG TESTED) | | | | | |
| 1000 + LBS | 4485 \$ | 4,200.00 | 4 | \$ 1,050.00 | \$ 0.94 |
| 900 - 999 LBS | 4660 \$ | 5,450.00 | 5 | \$ 1,090.00 | \$ 1.17 |
| MATURE COWS | | | | | |
| 1000 + LBS | 3055 \$ | 3,150.00 | 3 | \$ 1,050.00 | \$ 1.03 |
| 800 - 899 LBS | 2595 \$ | 2,800.00 | 3 | \$ 933.33 | \$ 1.08 |
| Total Head | | | 546 | | |





CLOVERLEAF BISON AUCTION

North Battleford Mar. 10, 2021

2020 Bulls

High selling pen was from Dreamcatcher Bison, Edward Stock, selling for \$2.60/lb with an avg weight of 640 lbs.

High selling pen was from Beaver Creek Wood Bison, Brad Ramstead selling for \$1.70/lb with an avg weight of 795 lbs. **2020 Heifers**

High selling pen was from Rustic Hills Bison, Blair Welter selling for \$2.05/lb with an avg weight of 538 lbs.

2019 Heifers

High selling pen was from Rustic Hills Bison, Blair Welter selling for \$1.58/lb with an avg weight of 910 lbs.

2018 Heifers- OPEN

High selling pen was from Beaver Creek Wood Bison, Brad Ramstead, selling for \$1550 with a weight of 850 lbs.

| CLASS | WEIGHT | PRICE | # HD | AVERAGE | AVERAGE/ PD | |
|----------------------|----------|------------|------|----------------|-------------|--------|
| 2020 BULLS | | | | | | |
| 600 + lbs | 15410 \$ | 38,597.50 | 25 | \$ 1,543.90 | \$ | 2.50 |
| 500 - 599 lbs. | 24200 \$ | 59,671.55 | 42 | \$ 1,420.75 | \$ | 2.47 |
| 400 - 499 lbs. | 20333 \$ | 47,344.10 | 52 | \$ 910.46 | \$ | 2.33 |
| 300 - 399 lbs. | 8560 \$ | 15,742.30 | 24 | \$ 655.93 | \$ | 1.84 |
| Under 300 lbs. | 255 \$ | 420.75 | 1 | \$ 420.75 | \$ | 1.65 |
| 2019 BULLS | | | | | | |
| 700 - 799 + lbs | 3845 \$ | 6,499.00 | 5 | \$ 1,299.80 | \$ | 1.69 |
| | | · | | | | |
| 600 - 699 lbs | 5035 \$ | 7,196.40 | 8 | \$ 899.55 | \$ | 1.43 |
| 500 - 599 lbs | 1018 \$ | 1,323.40 | 2 | \$ 661.70 | \$ | 1.30 |
| 400 - 499 lbs | 994 \$ | 1,391.60 | 2 | \$ 695.80 | \$ | 1.40 |
| 2018 BULLS | | | | | | |
| Over 1000 lbs. | 2070 | \$3,900.00 | 2 | \$5,972.00 | | \$1.88 |
| Under 1000 lbs. | 1780 | \$2,200.00 | 2 | \$1,100.00 | | \$1.24 |
| MATURE BULL (SEMEN T | ESTED) | | | | | |
| 1100 lbs + | 2615 \$ | 3,300.00 | 2 | \$ 1,650.00 | \$ | 1.26 |
| 2020 HEIFERS | | | | | | |
| 400 - 500 lbs | 36070 \$ | 62,484.55 | 78 | \$ 801.08 | \$ | 1.73 |
| 300-399 lbs | 12055 \$ | 18,593.00 | 35 | \$ 531.23 | \$ | 1.54 |
| 200-299 lbs | 1425 \$ | 2,421.60 | 5 | \$ 484.32 | \$ | 1.70 |

2019 HEIFERS

| 800 + lbs | 5980 | \$9,406.50 | 7 | \$ 1,343.79 | \$ 1.57 |
|------------------------|---------|------------|-----|----------------|------------|
| 600-799 lbs | 5845 \$ | 8,597.70 | 9 | \$ 955.30 | \$ 1.47 |
| 500-599 lbs | 3255 \$ | 4,331.60 | 6 | | \$ 1.33 |
| 2018 HEIFERS (OPEN) | | | | | |
| 800 + lbs | 5020 \$ | 8,700.00 | 6 | \$ 1,450.00 | \$ 1.73 |
| MATURE COWS (PREG CHEC | KED) | | | | |
| 900 + LBS | 6575 \$ | 7,250.00 | 8 | \$ 906.25 | \$ 1.10 |
| 800 - 899 LBS | 5178 \$ | 6,150.00 | 6 | \$ 1,025.00 | 1.18 |
| Total Head | | | 327 | | |





North Battleford May 5th, 2021

2020 Bulls

High selling pen was from Shell River Bison, William Mumm, average weight of 639, selling at 2.21 lb.

2019 Semen Tested Bull

High seller was from NB Bison Ranch, Mike Mrdjenovich, weight of 1460 lbs, selling for \$6250.00 **2019 Bulls**

High seller was from Trophy Tine Ranch, George Masse, weight of 1075 lbs, selling for \$2300.50 **2018 Bulls**

High seller was from Floyd Jorgenson, weight of 1490 lbs, selling at 1.47 lb.

2020 Heifers

High selling pen was from Last Mountain Foothills Bison Ranch Ltd. Average weight 604, selling \$1.76 lb.

2019 Heifers

High selling pen was from Summercove Bison Corp, Jared Cowie. Average weight 888 lbs, selling \$1.80 lb.

| CLASS | WEIGHT | PRICE | # HD | AVERAGE | AVERAGE/ PD | |
|---------------------------|----------|-------------|------|----------------|-------------|--|
| 2020 BULLS | | | | | | |
| 600 + lbs | 32360 \$ | 69,879.35 | 51 | \$ 1,370.18 | \$ 2.16 | |
| 500 - 599 lbs. | 69885 \$ | 143,029.90 | 127 | \$ 1,126.22 | \$ 2.05 | |
| 400 - 499 lbs. | 18380 \$ | 27,944.60 | 40 | \$ 698.62 | \$ 1.52 | |
| 300 - 399 lbs. | 2230 \$ | 3,202.00 | 6 | \$ 533.67 | \$ 1.44 | |
| 2019 BULLS (Semen Tested) | 1 | | | | | |
| 1400 - 1499 lbs | 2860 \$ | 10,000.00 | 2 | \$ 5,000.00 | \$ 3.50 | |
| 1200- 1299 lbs | 2470 \$ | 6,200.00 | 2 | \$ 3,100.00 | \$ 2.51 | |
| 2019 BULLS | | | | | | |
| Over 1000 lbs. | 1075 | \$2,300.50 | 1 | \$2,300.50 | \$2.14 | |
| 750 - 899 lbs | 7035 | \$14,780.42 | 9 | \$1,642.27 | \$2.10 | |
| 600 - 750 lbs | 5950 | \$9,017.20 | 9 | \$1,001.91 | \$1.52 | |
| 2018 BULLS | | | | | | |
| 1400+ lbs | 1490 \$ | 2,190.30 | 1 | \$ 2,190.30 | \$ 1.47 | |
| 1100 - 1150 lbs | 1150 \$ | 1,978.00 | 1 | \$ 1,978.00 | \$ 1.72 | |
| 900 - 999 lbs | 5575 \$ | 9,611.45 | 6 | \$ 1,601.91 | \$ 1.72 | |
| 800 - 899 lbs | 3505 \$ | 6,815.85 | 4 | \$ 1,703.96 | \$ 1.94 | |
| 2020 HEIFERS | | | | | | |
| 500 - 625 lbs | 60420 \$ | 99,706.95 | 108 | \$ 923.21 | \$ 1.65 | |

| 400 - 499 lbs | 48885 \$ | 74,341.75 | 106 | \$ 701.34 | \$ 1.52 |
|---------------|----------|------------|-----|----------------|------------|
| 275 - 399 lbs | 4360 \$ | 4,985.35 | 12 | \$ 415.45 | \$ 1.14 |
| 2019 HEIFERS | | | | | |
| 800+ lbs | 2665 | \$4,797.00 | 3 | \$ 1,599.00 | \$ 1.80 |
| 700 - 799 lbs | 16430 \$ | 28,550.20 | 22 | \$ 1,297.74 | \$ 1.74 |
| 600 - 699 lbs | 7675 \$ | 10,041.50 | 12 | \$ 836.79 | \$ 1.31 |
| 450 - 499 lbs | 995 \$ | 955.20 | 2 | \$ 477.60 | \$ 0.96 |
| 2018 HEIFERS | | | | | |
| 700 + lbs | 1520 \$ | 2,310.40 | 2 | \$ 1,155.20 | \$ 1.52 |
| Total Head | | | 526 | | |
| IUlai neau | | | 520 | | |

